








Find  the number of square (?)

(A) 16

(B) 14 

(C) 18

(D) 20 



Statement :

All Samosas are Jalebi.सभी समोसा जलेबी हैं।

All Jalebis are Tikki.सभी जलेबीस टिक्की हैं।

All Tikkis are Barfi.सभी टिक्की बर्फी हैं।

Conclusions : 
(I) All Toffee are not Barfi.सभी जलेबी बर्फी नही ींहैं।

(II) All Tikkis are Samosas. सभी टिक्की समोसे हैं।

(A) If only conclusion I follows.

(B) If only conclusion II follows.

(C) If neither conclusion I nor II follows.

(D) If both conclusion I and II are follows.



Find the option which should replace (?)

(A) 11

(B) 12

(C) 10

(D) 13



In 2018, which of the following two months have 1st day will be same 
days ?

2018 में, टनम्नटलखित में से टिस दो महीने में 1 टदन समान टदन होगा?

1) February , April

2) May , July

3) June , September

4) January , October 



Find  the number of triangle (?)

(A) 14

(B) 16 

(C) 18
(D) 20 or more



Find  the number of triangle (?)

(A) 20

(B) 19 

(C) 18
(D) 22



The six faces of a dice have been marked with alphabets A, B, C, D, E and F respectively. 
This dice is rolled down three times. The three positions are shown as:

Find the alphabet opposite A.

A.C
B.D
C.E
D.F



Find the missing one  (?)

37 * 25 = 7
95 * 37 = 5
87 * 85 = 15
27 * 41 = ?

(A) 9    
(B) 7
(C) 12 
(D) 13



(A) R

(B) S

(C) Q

(D) P

E F H S

B Q C V

D F G ?



Which of the following diagrams indicate best 
relation between Author, Lawyer and Singer?
टनम्नटलखित में से िौन सा टित्र लेिि, विीलऔर
गायि िे बीि सींबींध िो दर्ााता है? 

C. D.

B.A.



Find number of square in the given figure ?

(A) 42 (B) 30

(C) 49 (D) 28



Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: Answer Figures:

(A) (B) (C) (D) (1) (2) (3) (4) (5)

A.1
B.2
C.3
D.4
E.5



Choose the word which is different from the rest.
A.Coat /िोि
B.Shirt / र्िा
C.Blouse / ब्लाउज

D.Trousers / पायजामा
E.Sweater /से्विर

.



Study the diagram given below and answer each of the following questions.

How many persons who take tea and wine but not coffee ?
टितने लोग हैं जो िायऔर वाइन लेते हैं लेटिनिॉफी नही ीं?
A.20
B.17
C.25
D.15



Find the option which should replace (?)

jkl : 6 :: vsl : ?

(A) 15

(B) 120

(C) 40
(D) NOT



In which year 2011 calender will be repeated :-

टिस वर्ा में 2011 िैलेंडर दोहराया जाएगा: -

(A) 2020 

(B) 2021

(C) 2022
(D) 2023



From the given alternative words, select the word which can be formed using the 
letters of the give word :
टदए गए वैिखििर्ब्ोीं से, उसर्ब्िा ियनिरें टजसे र्ब् िेअक्षरो ींिा उपयोग िरिे

बनाया जा सिता है:

REPLENISHABLE

(1) LIME
(2) REACH
(3) SHINE
(4) PAPER


